INSTALLATION




Contents

1. Tile on-roof mounting system installation

1.1 Overview

1.2 Drawing
1.3 Components
14 Installation steps

2. Corrugated metal sheet roof mounting system installation

2.1 Overview

2.2 Drawing
2.3 Components
24 Installation steps

3. After-sale service warranty



1 Tile on-roof mounting system
installation

1.1 Overview

Module: CHSM6610P-250W(40mm)
Arrangement: 1¥4
Tilt angle: follow the roof-top

A: Aluminum rail

Used for installing module

7  ASTRONERGY



lov]

: End clamp/Middle clamp
Used for fixing module

Roof hook
Used for connecting alumnium rail and roof rafter

C

1.2 Drawing

Signing colum
cEom |
REVIEVED
APPROVED
[35] T
3% B 3% %% . Wind load:26m/s
Modle Hed.en ro” Snow load:0. 3KN/m2
i
i -4 3
= S = e e = H e F 3
= |- Al | . _/
i
£ g + g
ind|clamp|
== = = — =i I ]
i Tt
110 1410 l 1410 u
I 31 900 900 900 900 35 -
/ML
Module Middle clamy
Aluminium rail | m M8 Inner hex balt Module
T nner_hex Dol e
%’\ M8 Inner hex bolt
MEthri(Tl—head b‘aH —
7 I Tlnge Iy = Aluninium rail /
Tie // Roof hock ¥8 T-nut R
End clamp node Middle clamp node
Wood Screw @ e —_—
2-M8X10 flange hex bolt, Material List HXM
Aluminium rail splice node No. Name Specifications| ~ Material | QTY | Unit | Remarks
- 1 Roof hook 6063T5+SUS304] 10 |Piece
o . 2 Aluminium rail 606315 85 |Meter
Technical instruction: 3 M8 T-splice bar 506375 8 |Piece P
1. Module dimension : 1652X994X40 i MBX) flange hex bolf SUS304 1 |Piece Uness s drowing s sined by
2-Module nstellzfion type : Laying along fhe color steel fle roof 5[ MBX25 T-head bol+flange nuf US| 10 | Set o o o e e
6 4) End clamp L=50nm 606315 b | Set
1 Viddle clamp L=50nm 606315 6 | Set
A CHNT COMPANY

www.astronergy.com

3




1.3 Components

(1) Roof hook

<

(3) Middle clamp

1.4

(5)M8x90 T-splice bar

&
&

(7) Wood screw

4  ASTRONERGY

(2) End clamp

(4) Aluminum rail

(6) M8*25 T-head bolt+flange nut




1.4 Installation steps

(1) Fix the roof hook to the roof rafter with M8 wood screw

Roof

Wood

Tile

Rafter

(2) Place the roof hook on the roof as the picture below, the distance between front and back is 1020mm,

and between right and left is 1400mm

1020mm

(3) Put the aluminum rail on the roof hook

Aluminum

Roof hook

Put the T-head bolt in the notch of the aluminum rail and through the hole of the roof hook,then fix it

securely with flange nut

A CHNT COMPANY

www.astronergy.com

5



/Aluminum

T-head
Roof hook
Flange
(4) Connecting the two aluminum rail with T-splice bar and M8*10 inner flange bolt
Aluminum rail
T-splice bar
(5) Put the module on the aluminum rail and fixed with end clamp and middle clamp
End
Middle clamp
Module

6  AsTRONERGY



(6) Installation of clamp: put the T-head bolt in the notch of the aluminum rail with M8 inner flange bolt connected and
fixed securely

V— Module

Clamp

End clamp fixing

(7) Installing all the modules as 3.6 till complete.

A CHNT COMPANY 7

www.astronergy.com



2.1 Overview

(/][] o088

4

v ¢
r o 4
-

Module: CHSM6610P-250W(40mm)
Arrangement: 1%4
Tilt angle: follow the roof-top

A: Aluminum rail
Used for installing module

B: End clamp/Middle clamp
Used for fixing module

C: M10X200 hanger bolt+ EPDM
Used for connecting aluminum rail

and metal roof

8  AstRONERGY



2.2 Drawing

i) 4] 4]
Aluninium rail
End clam
WA O N A N 0
M8 T-splice bar| Middle clamp
4230
@ ~Madule

Aluminium rail M8 T-splice bar

2-M8X10 flange hex bo\E

with flange nuf

M8 Inner hex bolt

@ N\ M10X200 hanger bolt

Middle clamy
é Module

»

W8 T-nut/ Aluniniun rail

©

‘Signing colum
csom |
RVIERD |
AerROvED |
Note:
Madule
@\l 94 ] 59 B 99k Aluminium rail Wind load:26m/s
1 1 Corrugated roof Snow load:0.3KN/m2
o I i s
! 000 [ 000 1000 000 J

Aluminium rail splice node r
R Material List {1x4)
No. Name Specifications | Maferial | ATY | Unit | Remarks
1 M10X200 hanger bolt SUSI044EPDM| 10 [Piece
1 Aluminium rail 606375 85 [Meter
Technical instruction: 3 M8T-splice bar 606375 8 [Piece
I Module dimension : 1652X994X40 i MBX10 flange hex bolt SUS30E | 16 |Piece s Lo
2. Module Installation type : Laying along the color steel tile roof 5 | MBX25T-head bulf+flange nut SUs3ok | 10 [ et deign should sot e ueet.
6 40 End clamp L=50mm 606375 b | Set
1 Middle clamp L=50mm 606375 6 | Set
2.3 Components
(1) M10X200 hanger bolt+ EPDM (2) End clamp
/
A CHNT COMPANY

www.astronergy.com

9



(4) Aluminum rail

o/

(3) Middle clamp

.4

(5) M8x90 T-splice bar

P

2.4 Installation steps

6) M8*25 T-head bolt+flange nut

(1) Fixing the M10X200 hanger bolt+ EPDM on the upper part of the metal roof which area planed to install the

module, and check whether the flange nut is screwed securely

M10X200hanger bolt+ EPDM

Metal roof

(2) Place the hanger bolt on the roof as the picture below, the distance between front and back is 1020mm, and

between right and left is 1000mm

a 6]

10 AastrRonErRGY

»
!

1020mm

<
<

1000mm




(3) Put the aluminum rail on the M10X200 hanger bolt+ EPDM

M10X200 hanger
bolt+ EPDM

Aluminum rail

flange nut

Put the T-head bolt in the notch of the aluminum rail and through the hole of the hanger bolt,then fix it securely with
Aluminum

N

T-head bolt
M10X200 hanger bolt+ EPDM

Flange

Metal roof

(4) Connecting the two aluminum rail with T-splice bar and M8*10 inner flange bolt

Aluminum rail

T-splice bar

A CHNT COMPANY ‘I ‘I

www.astronergy.com



(5) Put the module on the aluminum rail and fixed with end clamp and middle clamp

Module

End clamp

Middle clamp

(4) Installation of clamp: put the T-head bolt in the notch of the aluminum rail with M8 inner flange bolt connected

End clamp
Middle clamp
Module

End clamp fixing Middle clamp fixing

and fixed securely

(5) Installing all the modules as 3.6 till complete.

12 AastronereY



3 After-sale service warranty

1 Installation guide and training service
(1) Provide installation guide to the customers.
(2) For project <3MW, Astronergy offers technical consultation and training by phone, Email, video clips etc.
(3) For aMW~10MW project, free training at Hangzhou for 2 days.
(4) For project >10MW, free training at Hangzhou for 2 days, 5-10 days consultation and guidance on site where the

project is located is also available, Astronergy bares the traveling expenses.

2 Repair and replacement

Astronergy will offer free placement for the productions with defects or discrepancies in condition that the items ex-

pressed in the “Product warranty” declared by Astronergy are all satisfied.

(1) Astronergy will offer free placement and bear the cost of freight. (2)Astronergy will, upon getting reasonable
advance notice from Buyer, pay for the cost related to the productions with defects, including the cost of reconnais
sance to inspect the condition of defects on site, repairing and replacement works, and materials test etc.

(3) If Astronergy fails to repair or collect and replace any rejected goods as and when requested by Buyer in accord
ance with “Product warranty’, Buyer may, upon reasonable advance notice to Astronergy, itself or through third
parties, repair or replace such rejected goods, and Astronergy shall reimburse Buyer the actual costs of such repair.

(4) If the products are out of the period of warranty, customer should pay for the repairing and replacement service
that Astronergy will offer.

3 Maintenance
Astronergy has no responsibility to offer maintenance service. In special cases, Astronergy and buyer can discuss about
the maintenance service and making relative items in contract.

Chint Solar (Zhejiang) Co.Ltd

Address: 1335 Binan Road, Binjiang District, Hangzhou, Zhejiang Province, 310053, PRC China.
Tel: +86 571 5603 1888

Fax: +86 571 5603 2383

Web: www.astronergy.com

A CHB{I’ COMPANY 1 3

yw.astronergy.com



Chint Solar (Zheliang) Co., Ltd.

1335 Bin'an Road, Binjiang District
Hangzhou, Zhejiang Province, 310053
China

Tel: + 86571 5603 1888

Fax: + 86 571 5603 2383

Bl
MA
([ ]

[ ]
=LOD
“SPAIN

Chint Solar Hispania S.L.
Paseo de Gracia, 78, 2-2A
08008 Barcelona,

Spain

Tel: + 349346 73778
Fax: + 34 9346 73789

0000000 CHO0O00OCOO OO

[ J
[ J
[ J
[ J
[ d
[ J
[ J
-
(]
[ J
[ J
[ 4
[ d
[ J
[ J
[ J
[ J
[ ]

KoyoAstro Co., Ltd.

1-5-6, Higashi-Nihonbashi, Chuo-ku,
Tokyo 103-0004,

Japan

Tel: + 03 58202141

Fax: + 03 5820 2142

Hangzhou, Shanghai & Jiuguan Astronergy GmbH Astronergy Solar Korea
Karlstr. 8 5th FL. Cowell Bldg, 66-1,
88212 Ravensburg, Banpo-Dong, Seocho-Gu,
Germany Korea

http://www.astronergy.com

Tel: +49(0)751 295096-10
Fax: + 49 (0)751 295096-39

Astronergy Solar, Inc.

Suite 1125, 795 Folsom Street,
San Francisco, CA 94107

USA

Tel: +1 650 392 2777

Tel: +82(0)2 2226 3911
Fax: + 82 (0)2 2226 3910

Astronergy Solar Thailand Co., Ltd.
184/88 Forum Tower 18FL
Ratchadapisek Rd., Huay-Kwang,
Bangkok 10320

Thailand

Tel: + 662 645 4155

Fax: + 662 245 3185

© ASTRONERGY 1405P /07 -2013





